6406532040823. # convert_file
6406532040824. * convert_all

6406532040825. # convert_csv

Question Number : 212 Question Id : 640653611081 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

From the converted csv file in previous question, you realize that the team ‘Delhi Daredevil' has
changed its name to ‘Delhi Capital’. Using excel, you wish to replace the old name with a new

name. It can be done in Excel using

Options:

6406532040826. ¥ Find and Replace
6406532040827. # Finding and Replacing
6406532040828. * Replace and Find

6406532040829. # Search and Replace

BDM
Section Id : 64065341311
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 40

Display Number Panel : Yes



Section Negative Marks : 0

Group All Questions : No

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 64065388057
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 213 Question Id : 640653611131 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 0

Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : BUSINESS DATA MANAGEMENT
(COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS
REGISTERED BY YOU)

Options :
6406532041017. ¢ YES

6406532041018. * NO

Sub-Section Number : 2
Sub-Section Id : 64065388058
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 214 Question Id : 640653611132 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

In project management, the Pareto Principle can be used to:

Options :

6406532041019. *# Allocate equal time and resources to all project tasks.
6406532041020. ¥ Focus on the tasks with the most impact on project success.
6406532041021. * Address only the tasks with immediate deadlines.

6406532041022. * Apply to projects but not to daily operations.

Sub-Section Number : 3
Sub-Section Id : 64065388059
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 640653611133 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (215 to 216)

Question Label : Comprehension

You oversee the inventory management of gear assemblies in a manufacturing facility. The

particulars of the inventory are as follows:

Starting Inventory: 150 units
Daily Usage: 8 units

Lead Time: 7 days

Safety Stock: 25 units

Based on the above data, answer the given subquestions.



Sub questions

Question Number : 215 Question Id : 640653611134 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

Based on this information, at what inventory level should you trigger a re-order for gear

assemblies?

Options :

6406532041023. # Initiate a re-order when the inventory level drops to 56 units
6406532041024. # Initiate a re-order when the inventory level drops to 81 units
6406532041025. # Initiate a re-order when the inventory level drops to 94 units

6406532041026. # Initiate a re-order when the inventory level drops to 79 units

Question Number : 216 Question Id : 640653611135 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

After how many days should you trigger a re-order

Options :

6406532041027. # 7 Days
6406532041028. # 14 Days
6406532041029. # 17 Days

6406532041030. ¥ 9 Days

Sub-Section Number : 4

Sub-Section Id : 64065388060



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 217 Question Id : 640653611136 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 2

Question Label : Multiple Choice Question

Which of the following is a key benefit of using data analysis in HR operations?

Options :
6406532041031. # It eliminates the need for human judgment in decision-making.
6406532041032. # It provides a standardized approach to all HR processes.

6406532041033. ¥ It enables data-driven decision-making to improve HR strategies and

outcomes.

6406532041034. # It only focuses on quantitative data and ignores qualitative factors.

Question Number : 218 Question Id : 640653611137 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

How do you lock the column reference in the "col_index_num" parameter of the VLOOKUP

function to prevent it from changing when copying the formula?

Options:

6406532041035. ¢ By using absolute cell references (e.g., $A$2).
6406532041036. # By using relative cell references (e.g., A2).
6406532041037. # By using mixed cell references (e.g., $A2).

6406532041038. # By using named ranges.



Question Number : 219 Question Id : 640653611138 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 2

Question Label : Multiple Choice Question

What sets "nudges" apart from traditional regulations or enforcement?

Options :

6406532041039. * Nudges primarily use only financial rewards.

6406532041040. ¥ Nudges gently influence behavior without force or coercion.
6406532041041. # Nudges are limited to public policy, excluding corporate practices.

6406532041042. * Nudges never involve strict mandates or restrictions.

Sub-Section Number : 5
Sub-Section Id : 64065388061
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 220 Question Id : 640653611139 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 3
Question Label : Short Answer Question

A company is testing two different display features (A and B) on their website's homepage to
determine which one leads to a higher conversion rate. During the experiment, they tracked the
number of visitors who clicked on the "Sign Up" button and calculated the conversion rate for each

version. The results are as follows:

e Version A: 500 visitors, 25 conversions

e Version B: 550 visitors, 40 conversions

Calculate the conversion rates for both Version A and Version B. Based on the results, which



version had a higher conversion rate, and what is the approx percentage difference between the

two conversion rates (in %)?
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Set

Text Areas : PlainText

Possible Answers :

-2

2

Sub-Section Number : 6
Sub-Section Id : 64065388062
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 640653611140 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (221 to 223)
Question Label : Comprehension

Consider the following data set and answer the given subquestions.

Applicant  |Income ($1000s)| Credit Score Loan Amount
($1000s)
Applicant F 40 700 120
Applicant G 60 800 160
Applicant H 25 580 80
Applicant | 45 720 150
Applicant J 30 650 120

Sub questions

Question Number : 221 Question Id : 640653611141 Question Type : MCQ Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Which applicant will face the most difficulty in repaying the loan?

Options :

6406532041044, * Applicant F
6406532041045. * Applicant G
6406532041046. # Applicant H
6406532041047. * Applicant1

6406532041048. ¢ ApplicantJ

Question Number : 222 Question Id : 640653611142 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

If any credit score of 700 and above is considered equally acceptable, then which applicant is the

most risky for the lender?

Options :

6406532041049. # Applicant F
6406532041050. # Applicant G
6406532041051. # Applicant H
6406532041052. ¢ ApplicantI

6406532041053. # Applicant

Question Number : 223 Question Id : 640653611143 Question Type : MCQ Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1

Question Label : Multiple Choice Question

If the primary factor for loan approval is the applicant's income, which applicant is likely to have

the easiest time getting their loan approved?

Options :

6406532041054. *# Applicant F
6406532041055. ¥ Applicant G
6406532041056. # Applicant H
6406532041057. # ApplicantI

6406532041058. *# Applicant

Sub-Section Number : 7
Sub-Section Id : 64065388063
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 224 Question Id : 640653611144 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question

A company is analyzing the effectiveness of different recruitment channels for hiring new
employees based on the number of applications received, the number of candidates shortlisted,
and the ease of applying scores (on a scale of 1 (min) to 5 (max)) for each recruitment channel.

Please follow the instructions below to answer the given subquestion.

Make your selection based on your analysis of the effectiveness scores of the recruitment

channels.



Recruitment Channel | Applications | Shortlisted | Ease of Applying (Scale: 1-5)
Job Boards 200 40 3
Campus Recruiting 150 25 4
Social Media 180 20 2
Employee Referrals 120 60 5

Instructions:

- Normalize Ease of Applying Scores

- Calculate Effectiveness Score: Calculate the effectiveness score for each recruitment channel by
multiplying the ratio of shortlisted candidates to applications by the normalized ease of applying
score.

- Rank the Channels: Rank the recruitment channels based on their calculated effectiveness scores.

The higher the effectiveness score, the more effective the channel.

Options :

6406532041059. #* Job Boards
6406532041060. # Campus Recruiting
6406532041061. # Social Media

6406532041062. ¥ Employee Referrals

Sub-Section Number : 8
Sub-Section Id : 64065388064
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 225 Question Id : 640653611145 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3 Max. Selectable Options : 0

Question Label : Multiple Select Question

TechCo conducted an extensive A/B test to evaluate the effectiveness of a new Subscription

Upgrade feature on user engagement. The control and test groups were carefully balanced to



ensure equal representation. The table below presents detailed engagement metrics before and
after the introduction of the Subscription Upgrade feature. Based on the given data, which of the

following statement is true? [Select all that apply]

Average Average
Average : .
session session
number of 3 Average number of :
N duration ) duration
Group sessions per h sessions per user (After :
(minutes) (minutes)
user (Before Feature)
Feature) (Before (After
Feature) Feature)
Control 6.2 12.5 0.0 13.2
Test 7.1 13.8 8.9 15.6

Options :

6406532041063. ¥ The new Subscription Upgrade feature led to a significant increase in the

average session duration for both control and test groups.

6406532041064. ¥ Both the control and test groups experienced a decrease in the average

number of sessions per user after the introduction of the Subscription Upgrade feature.

6406532041065. ¥ The Subscription Upgrade feature had a more pronounced impact on

increasing the average number of sessions per user in the test group compared to the control

group.

6406532041066. # The average session duration decreased in the control group but increased in

the test group after the introduction of the Subscription Upgrade feature.

6406532041067. # The increase in the average number of sessions per user was higher in the

control group compared to the test group due to the Subscription Upgrade feature.

Sub-Section Number : 9
Sub-Section Id : 64065388065
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 226 Question Id : 640653611146 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4



Question Label : Short Answer Question
Calculate the Overall EQuipment Effectiveness (OEE) of the Assembly Line Equipment for the

month of July.

Actual Machine Speed

-
Design Machine Speed . /6
f
| | l
OEE = AVEII|T|JI|IW xPerformance x Qualit
Run Time g Number e
Planned Praduction Hours - /0 ] ) a /6
Parameters:
Parameter Value

Planned Production Hours (PPH) 320 hours

Lost Time (LOT) 20 hours
Designed Machining Speed (DM) 220 pieces per hour
Actual Machining Speed (AM) 200 pieces per hour
Total Components Machined (TC) 6000 pieces

Defective Components (DC) 240 pieces
Round the OEE to two decimal places

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

0.81 to 0.83
Sub-Section Number : 10
Sub-Section Id : 64065388066
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 227 Question Id : 640653611147 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 3
Question Label : Short Answer Question

A reduction in the price of a product from $20 to $16 leads to a 15% increase in demand for the

product. Calculate the price elasticity of demand for this product.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Set

Text Areas : PlainText

Possible Answers :

0.75

-0.75

Sub-Section Number : 11
Sub-Section Id : 64065388067
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 228 Question Id : 640653611148 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question

Using the provided dataset, rank the candidates based on the given factors and choose the correct

ranking from the options below. Consider the following dataset:



Candidate |Years of Technical Skills  |[Number of [Tenure in
Experience Frojects Current Role

Esha 4.5 G, P4 3

Aisha 5 2 1 E

Sasha 6 2 3 4

Lavisha w4 i 3 2 2

Options :

6406532041070. # Lavisha > Aisha > Esha > Sasha

6406532041071. # Esha > Lavisha > Sasha > Aisha

6406532041072. # Aisha > Lavisha > Sasha > Esha

6406532041073. ¥ Sasha >Esha> Lavisha > Aisha

Sub-Section Number : 12
Sub-Section Id : 64065388068
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 229 Question Id : 640653611149 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 4

Question Label : Multiple Choice Question

Using the data in table and figure below, match the curve in column-A to its representative cost in

column-B (assume all units produced are sold).



Fixed Cost Variable Cost | Number of Units Produced | Selling price
(Rs.) (Rs./ unit) (units) (Rs./ unit)
5000 0 0 100
5000 20 200 100
5000 40 300 100
5000 45 320 100
5000 49 345 100
5000 33 370 100
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Column-A Column-B
I Curve-A a) Marginal cost
IIL. CurveB b) Marginal revenue
oI  Curve-C ¢) Avg. total cost
IV. None of the
above
Options :
6406532041074. # 1-(a), II-(c), I1I-(b)
6406532041075. # II-(a), I-(c), III-(b)
6406532041076. # III-(a), II-(c), I-(b)
6406532041077. ¥ 1V-(a), II-(c), I1I-(b)
Sub-Section Number : 13
Sub-Section Id : 64065388069
Question Shuffling Allowed : Yes




Is Section Default? : null

Question Number : 230 Question Id : 640653611150 Question Type : MCQ Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Correct Marks : 2

Question Label : Multiple Choice Question

An increase in Monisha’s income decreases her demand for Glucon-D. Then, for Monisha, Glucon-

Dis

Options :

6406532041078. * A complement to any good

6406532041079. #* A normal good

6406532041080. ¥ An inferior good

6406532041081. # A substitute to any good
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